TR IR

T= CGE%) RitFOBNIHONT

||m|

T2 (%) HEFEBEOAFRIZL VAV E-EFRIZ, BRSO
HOWMRNEGOHENH D=0, é&%ﬂ@ﬂ% Wz - Tl
27 n— R AT A SUTEAC BT D 1 KRR S & o
E L, AEEEIZEADLT | E=F~0RMTE] 2IT7DHRWNZ

(\r

HLE IR



B LAERINIRE

¥%4 |R6 =1+ E#EFR (EFhxn) = libks bz ¥ Fi TGRS
RIRES IH H TE I fiti 5 SRR
THE - I8 - fER - s HirE HAAL Yo B &FA Yo - SFEH T
JE I fiti 5 SR
= 1 684, 774
A S IV ES R
= 1 684, 774
B N RV ER AR
= 1 684, 774
A H 15
Sz 1 272, 340 272, 340
ReeoHE () H 25
Jim2 0. 04 572, 160 22, 886
LM D W Y
232 1 98, 560 98, 560
HEEDOIER [rRE=)
Sz 1 120, 240 120, 240
TE W R R R AR D AERR H 55
Jim2 0. 04 398, 720 15, 948
Evhs PRI A L] 15
B 1 154, 800
[ERF S
= 1 164, 779
[ERET -4
= 1 164, 779
TR B
= 1 50, 888
MM g (b oL SR B 65
H 1 50, 204 50, 204




B LAERINIRE

¥%4 |R6 =1+ E#EFR (EFhxn) = libks bz ¥ Fi TR
RIRES IH H R
HE - TH - &3l - Mkl HirE HAAL e B &FA Yo - SFEH T
B ER b DR B REEDIE (k) Db AR D3% e
294 684 684
i Gk
= 10, 203
i (BEE - fE 10 M - A A ) 25
= 10, 203
BRI T ER
= 60, 000
B RS ERE GRED g%ﬁjg%ﬁ@ﬁ
= 60, 000
ey
= 43, 688
RIE i BB 8e
A 13, 800 41, 400
ety (BRZEE) TREE D HHE D 10% =
= 2,288
EREEAM (F OB <)
= 849, 553
%@ﬂﬁﬁﬁﬂ 45
= 368, 750
—RE 5%
= 655, 697
R ESS ML
= 1, 874, 000
VHEBLAE 2 %A
= 187, 400

=\
5

gT[ﬂ}
o




e RS

ALEEY

AR

¥%4 |R6 =1+ E#EFR (EFhxn) = libks bz ¥ Fi TR
RIRES IH H R
HE - TH - &3l - Mkl HirE HAAL e B &FA Yo - SFEH T
ARG TR
= 2,061, 400

=N

N
Jjm




~ = =g Al 5 4F 2024. 06
1 /k WﬁR = i 4E A 2024. 06
_ TR 1.000-00000 0.0 0
N [TTAE PRFT A1
AT — Gsdis [ R [ = i
S
BEHT (B) A ! 64, 800 64, 800
B
Hehili (0) A L5 47, 200 70, 800
C
A 0.5 38, 400 19, 200
GL 154, 800

— EAME 4 A 2024. 06
1 ij\ W ER %‘: B A A 2024. 06

TS IHEEAR L 1. 000-00000 0.0 0

N o | FiREY CREF L VR B AR )

S - B Mt HLAL Kok A BEH ES

X 1 10, 203

10, 203




. HAME A A 2024. 06
1 %k Ij?JERi{ At A A 2024. 06
H H TS IHEEAR L 1. 000-00000 0.0 0
W oge | B (R REEDHHZ D10%
HR - H E ks BT o HAA K} T 2
et (RN
= 1 2,288
NI 2,288
. EAME 4 A 2024. 06
1 %K Ij?JERi{ At A A 2024. 06
H H TS IHEEAR L 1. 000-00000 0.0 0
N 4 [T ORI
HR - H E ks BT o HAA K} T 2
EREINEE-MEEE )
EHE N2 684, 774
= 1 684, 774 |7 X9 : 0
o/ (1—a)
35%, (1—235%)
% 53. 85
Z Ot JE A
HEENEE GREHES
= 1 368, 750|) X o,/ (1—a)
At 368, 750

=
IS

i
I




— HAME A A 2024. 06
1 7}”\ W ER %‘: i Liikaads! 2024. 06

i e 955 AR A 1.000-00000 0.0 0
™ 54 TR EEH
S5 B an i BT B Wi o W
173 T
\ SERSIRUIN: 1, 218, 303
B/ (1—8) A ! 1,218,303| X9 0
o 5385 35%, (1—35%)
— IR :
, EHBFX B/ (1—B
S a 1 656, 056 |)
-359
i 655, 697




S NN 2 HAME A A 2024. 06
1 {5<£$i{ﬁ55§§ i ikias 2024. 06
TS IHEEAR L 1. 000-00000 0.0 0
o | B Ef
A i vaw AR | S
TR - Bk E ks BT o HAA KA i
I
23 98, 340 98, 340
BRI R
23 59, 600 59, 600
B kA
23 59, 600 59, 600
BE LIRS Tt
23 54, 800 54, 800
ot 272, 340
HAA 272, 340 P ANZY

=
&

@m
o




S NN 2 HAME A A 2024. 06
1 /k@ﬁﬁi’% i ikias 2024. 06
TS IHEEAR L 1. 000-00000 0.0 0
o REEOHE  (AHR)
o Hfir T2 e , B A —_—
A - B e =<y HE HiH &% o
R E 3K
OVEINEE 0. 1<C=0. 2
H 2.4 238, 400 572, 160
it 572, 160
HAA 572, 160 M/ Jm2

=




1 R HAL

HLA i AR

At 4E A
TS IHEEAR L 1. 000-00000 0.0 0
Woo3E DBk
7 P2 AT R 0 98, 560
A - B o HAA K} T 2
FAFHeHl
2 64, 800 129, 600
Fefifi (B)
10 47, 200 472, 000
e (C)
10 38, 400 384, 000
&t 985, 600
B 98, 560

=N




S NN 2 HAME A A 2024. 06
1 /k@ﬁﬁi’% i ikias 2024. 06
TS IHEEAR L 1. 000-00000 0.0 0
o | S EOER
FoAE B {7 bW B (A B , 4 4 190, 240
A - B E ks BT o HiH K} T 2
AR EDVER
23 120, 240 120, 240
&3t 120, 240
HAA 120, 240 P ANZY
S NN 2 EAME 4 A 2024. 06
1 /k@ﬁﬁi’% i ikias 2024. 06
TS IHEEAR L 1. 000-00000 0.0 0
W o5e TE W AR R AR D 1AL
BT Jrm2 AN B ] EAA 398. 720
A - B E ks BT o HiH K} T 2
TE W R Rk D 1ERR
Jim2 1 398, 720 398, 720
&3t 398, 720
HAA 398, 720 M/ Jm2

=
IS

i
I




S NN 2 HAME A A 2024. 06
1 ék E%i{ﬁﬁ%%% BB |2024.06
TS IHEEAR L 1. 000-00000 0.0 0
- o BT (b2 LSRR D)
®6F A Eee X 4 1
R - BIR B A AR eSS
TR T (—f%)
1 20, 700 20, 700
by RV R E R
YEZER 9. 9m
1 26, 600 26, 600
L S
21. 84 133 2,904
NI 50, 204
B 50, 204 M,/ H

=

N
Zim




S NN 2 HAME A A 2024. 06
1 /f;'\ Ejfﬂﬁi@ BB |2024.06
TS IHEEAR L 1. 000-00000 0.0 0
Woo7e B O % REOHIE () OE#EAMEEO
3% =<y 234 HATHE ] B 684
A - B e =<y HE HiH &% o
B Rt Dt &
23 684 684
CEil 684
HAA 684 P AVZI
S NN 2 EAME 4 A 2024. 06
1 /f;'\ Ejfﬂﬁi@ BB |2024.06
TS IHEEAR L 1. 000-00000 0.0 0
o | RQIEEEE i BB
o Wi A W | 5 500
A - B e =<y HE HiH &% foE
A1 A i 5 B
A 1 13, 800 13, 800
aEf 13, 800
HAA 13, 800 MA

=
IS

i
I




